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I. VIDEOWATCHING

Task 1. Makcumym 20 6a/10B

Watch this video about one day at school in England and find out 4 differences and 4 similarities
with the school in Russia. Write your opinion about the school in England (100 - 150 words).

If you fail to use the indicated number of words your answer will not be checked.

Kpurepum ouenku

20 6asnoB. Vcronb3yeMblil cIOBapHBINA 3arac U rpaMMaTHYECKUE CTPYKTYPhl COOTBETCTBYIOT
nocTaBlieHHOM 3anade. ['pammaruueckue u opdorpaduyeckue ommbOku — cHumaercs 1 Oam, 3a
Kaxayro omuOKy. IloBropHbIe OIIMOKK HE YYUTHIBAIOTCS TIPU CHATUH OAJJIOB.

15 O6anjoB - crunucTHueckoe OQOpPMIIEHHE COOTBETCTBYET TPEOOBAHUAM 3a/aHUsA, HO
HaOJI01AI0TCS JIKCHYECKHUE Y TPAMMATHUYECKUE OIMOKH, HE 3aTPYIHSIOIINE TIOHUMAHUS TEKCTa;
UMerTCs opdorpadguieckre U MyHKTyallMOHHBIC OIMOKH (He 6oJiee 2X B OOIIIEM KOJIMYECTBE)
10 GaanoB - HaOMIOJAIOTCS MUHUMAJbHBIE CTUIMCTHUUYECKOE HAPYIIEHUS, JIEKCUUECKUE W
rpaMMaTH4ecKue OMUOKH, He 3aTPYIHSIONINE TOHUMaHUI TEKCTa; UMEI0Tcs opdorpadudeckue u
NYHKTYallMOHHBIE OIUOKH (He Oojiee 3X B 00IIEM KOJMYECTBE)

5 O6amgoB - HaOmOAAOTCAd CEpPhE3HbIE CTHIMCTUYECKOE HApYyIIEHUs, JEKCHYECKUue U
rpaMMaTU4ecKue OMMOKM BIUSIOT Ha TOHUMaHWEe; HWMEIOTCS opdorpadudeckue u
MyHKTYaIlMOHHbIE OIIHOKY (He 60see 4X B 001IEM KOJTUYECTBE)

0 6aJ10B - HE coOmoIeHNe TPeOOBAHUH 110 KOJMYECTBY CIIOB, OTCYTCTBYET JIOTHKA B

HOCTPOCHUHU BBICKA3bIBAHMUSL.
Il. READING

Task 2. Makcumym 3 0aJjiiia
Read the text and answer the question below. Write your answer (50-60 words) in your ANSWER
SHEET. If you fail to use the indicated number of words your answer will not be checked.

LOOKING TO WIKIPEDIA FOR ANSWERS
By Thomas Malone

To understand how large-scale work was organized during the past 100 years, the best models
were traditional hierarchical organizations such as General Motors, IBM and Wal-Mart. But to
understand how large-scale work will be organized in the future, we need to look at newer
examples such as Wikipedia, eBay and Google.

In Wikipedia, for instance, thousands of people from across the globe have collectively created a
large and surprisingly high-quality intellectual product-the world’s largest encyclopedia-and have
done so with almost no centralized control. Anyone who wants to can change almost anything,
and decisions about what changes are kept are made by a loose consensus of those who care.
Wikipedia is a remarkable organizational invention that illustrates how new forms of
communication, such as the Internet, are making it possible to organize work in new and innovative
ways.

Of course, new ways of organizing work are not desirable everywhere. In many cases, traditional
hierarchies are still needed to capture economies of scale or to control risks. But in increasing
number of cases, we can have the economic benefits of large organizations without giving up the
human benefits of small ones — freedom, flexibility, motivation and creativity.

These human benefits can provide decisive competitive advantages in knowledge-based and
innovation driven work. During the coming decades, we can expect to see such ideas in operation


https://www.youtube.com/watch?v=yMUJKH1fFF0

in more and more parts of the economy. These new practices have various names, but the phrase |
find most useful is ‘collective intelligence’.

What if we could have any number of people and computers connected to, for instance, care for
patients in a hospital? Or designing cars. Or selling retail products. We might find that the best
way to do a task that today is done by full-time people would be to use one part-time employee
and a host of freelance contractors each working for q few minutes a day.

One important type of collective intelligence is ‘crowd intelligence’, where anyone who wants to
can contribute. In other cases will not happen overnight, but the rate of change is accelerating, and
businesspeople a hundred years from now may find the persuasive corporate hierarchies of today
as quaint as we find the feudal farming system of an earlier year.

Question: Is Wikipedia a breakthrough in communication or in collective intelligence? Prove your
answer.

Kpurepum ouenkmu:

CooTBeTcTBHE OTBETA IOCTABJICHHOMY BOIIPOCY.

Hcnionb3yeMplii CIIOBapHBIN 3a11aC ¥ TPaMMaTUYECKUE CTPYKTYPBI COOTBETCTBYIOT IIOCTABJICHHON
3ajaue.

['pammatudeckue u opdorpaduyeckrne ommbOku — caumaercs 1 6amn 3a 2 ommbky, 2 6anna 3a 4
omunOKH, ecnu omuOoK Oomnbire 4 3amanue oueHuBaercs B 1 Oamr. IloBropHbIe OmMOKH He
YUUTBIBAIOTCS MPU CHATUH OaJJIOB.

I11. USE OF ENGLISH

Task 3. Makcumym 5 6ajiiio

Use a collective noun to express the same meaning as the word in italics. Do not use the word
‘group’. You do not need to copy the whole sentence: write the chosen word in a numbered line
in your ANSWER SHEET.

1.0nce a week our managing director sends emails to all the employees of the company with
updated instructions to follow.

2.Sue was happy to work as a flight assistant with the people who flew the plane.

3.Ben Hatchinson invited all the people who acted in the film to celebrate their success in a fancy
restaurant.

4.The people in general have the right to criticize the current political course followed by the
government.

5.The people who act in this show refused to continue their activity.

OTBeThI
\1—staff 2-crew 3-cast 4-public 5-company

Kpurepun onenkn:
Kaxnprit mpaBuiibHBIA OTBET oOleHWBaeTcs B 1 Oamn. B cimydae opdorpadudeckoit wmm
rpaMMaTH4ecKkoi onMOKu OTBET orjeHnBaeTcs B 0 Oayos.



Task 4. Makcumym 10 6a10B
Write 10 nouns that can be used only in plurals. Write your answers in a numbered line in your
ANSWER SHEET.

OTBeThbI
Students’ choice

Kpurepum ouenku
Kaxxnprii mpaBwiIbHBIA OTBET oOIleHWBaeTcs B 1 Oamn. B cimywae opdorpaduueckoit wmum
rpaMMaTu4ecKkoil ommrOKy OTBET olleHuBaeTcs B 0 6amios

Task 5. Makcumym 9 6ajiiioB

Choose the correct word from the box to fit into the sentences below. Use plural forms of the
words, if necessary. You do not need to copy the whole sentence: write the chosen word in a
numbered line in your ANSWER SHEET.

article breath carton gust loaf lump means spot stroke

1.Danny is always complaining of the heavy workload in the lab, but I don’t think he doesa
work there.

2.Please open the window. Let me get a of fresh air.

3.He always gets five of sugar in his tea!

4.How many of clothing can I bring in to the fitting room?

5.1 wished I had taken an umbrella when | felt the first __ of rain.

6.The tram is the most ecologically safe of transport in town.

7.A sudden of gale upset all the furniture in our garden.

8.My mom asked me to buy two of bread and a of milk.

OTtBeTnl
\ 1- stroke 2-breath 3-lumps 4-articles 5-spots 6-means 7-gust 8-loaves; 9-carton |

Kpurepun onenkn
Kaxnplii npaBuibHbIM oTBeT oneHuBaercss B 1 Oami. B ciydae opdorpaduueckoit wmmm
rpaMmMaTH4ecKkoi omMOKu OTBeT oljeHnBaeTcs B 0 Gaios.

Task 6. Makcumym 10 6asiioB

Give definitions to the following word combinations (100-120 words for ALL the five-word
combinations). Write your answers in an attached table in your ANSWER SHEET. If you fail to
use the indicated number of words your answer will not be checked.

1.social media

2.to sort out a problem
3.assertive

4.up-and-coming

5.to push oneself to the limit



OTBeThbI
Students’ choice

Kpurepum ouenku

10 6asnoB. Vcronb3yeMblil CI0OBApHBINA 3amac U rpaMMaTHYECKUE CTPYKTYpPhl COOTBETCTBYIOT
NIOCTaBJICHHOM 3aj1a4e. ['paMMaTrueckue u opdorpadudeckue ommOKu — cHumaercs 1 Gam, 3a
Kaxayro omuOKy. [ToBTopHbIE OIIMOKH HE YYUTHIBAIOTCS TIPU CHATUH OAJJIOB.

5 6annoB — crwmctrueckoe O(GOPMIIGHHE COOTBETCTBYET TpEeOOBAHUSAM 3alaHUs, HO
HaOJII0AAI0TCS JIKCHYECKHUE Y TPAMMATHUYECKUE OIMOKH, HE 3aTPYIHSIOIINE TIOHUMAHUS TEKCTa;
uMerTcs opdorpadguieckre U MyHKTyal[MOHHBIC OIMOKH (He 0oJiee 2X B OOIIIEM KOJIMYECTBE)

3 0amna — HaOMIOMAIOTCS MUHUMAIbHBIC CTUJIUCTHYECKOE HApYIICHUS, JEKCUYECKHEe |
rpaMMaTHYecKre ONIMOKH, He 3aTPY/IHSIOIINE TOHUMAaHUs TEKCTA; UMEIOTCS opdorpadudeckue u
NYHKTYallMOHHBIE OIMOKH (He 6ojiee 3X B 00IIEM KOJIHUYECTBE)

2 0Ganna — HaAOMIOJAIOTCS CEphE3HBbIC CTUJIMCTUYECKOS HAPYIICHUS, JIEKCHYECKHEe |
rpaMMaTH4YecKue OIMMOKH BJIMSIOT Ha TIOHMMaHue; uMewTcs opdorpapudeckue u
MYHKTyaIlMOHHBIC OIIMOKY (He Oosiee 4X B 00OIIEM KOJTMYECTBE)

0 6a/1510B — He coOMI0AeHNE TPEOOBAHUH 110 KOJIMYECTBY CJIOB, OTCYTCTBYET JIOTUKA B IOCTPOECHUU
BBICKA3bIBAHMS.

IV. CREATIVITY

Task 7. Makcumym 20 6a/10B

Look at these pictures. They show the story. Write the story that happened. Try to convey the
emotions of the characters in words. 100-150 words. If you fail to use the indicated number of
words your answer will not be checked.

Kpurtepuu oueHku

Oto 3a/laHue MOKET OBbITh OLICHEHO MaKCHUMaIbHO B 20 0asuIoB.
20 6anuioB. Vcnonb3yemblil CIOBapHBIM 3amac ¥ rpaMMaTH4YeCKUE CTPYKTYpPbl COOTBETCTBYIOT
NocTaBlieHHOW 3anade. ['pammarnueckue u opdorpapuyeckue ommOku — cHumaercs 1 Oam, 3a
Kax1yto omuOKy. IToBTopHbIE OIMOKM HE YUUTBIBAIOTCS MPU CHATUH OAJIJIOB.

15 OangoB - crunucTHYecKoe OQOPMIIEHHE COOTBETCTBYET TpPEOOBAHUAM 3a/aHUs, HO
HaOJI01aI0TCS JIEKCHYECKUE Y TPaMMaTHUYECKUE OIMOKY, HE 3aTPYyIHSIOIINE TOHUMAHUs TEKCTa;
umeroTcs opdorpapuieckie U MyHKTyallMOHHbIE OLINOKY (He Oojee 2X B 00111eM KOJIUYECTBE)
10 6annoB - HaOMOJAIOTCS MHMHUMAJIbHBIE CTHJIMCTHYECKOE HAPYIICHUs, JEKCHYECKHE U
rpaMMaTH4ecKue OMMOKH, He 3aTPYJHSIOIINE TOHUMAaHUs TEKCTa; UMEIOTCS opdorpadudeckie u
NYHKTYallMOHHbIE OIIUOKH (He 6ojiee 3X B 00IEM KOJIHUYECTBE)

5 OamnoB - HaONMIOMAIOTCS CEphE3HBIE CTHWIIMCTHYECKOE HAapyIICHUs, JIEKCHUYECKHe U
rpaMMaTHdyeckre OIIMOKM BIUSAIOT Ha IOHUMaHHE; HMEITCcs opdorpaduyeckue U
MYHKTYallMOHHbIE OLTHOKH (He O0see 4X B 00111eM KOJUYECTBE)

0 6a,1;10B - He coOI0AeHNE TPEOOBAHUH MO KOJUYECTBY CJIOB, OTCYTCTBYET JIOI'MKa B TOCTPOECHUH
BBICKA3bIBAHMS.



Task 8. Makcumym 18 6aioB

Read one of the quotes from the Queen of England. How do you understand it? Give some
examples from famous literary works (100-150 words). If you fail to use the indicated number of
words your answer will not be checked.

"It's worth remembering that it is often the small steps, not the giant leaps,
that bring about the most lasting change.™

Kpurepun ouenkn

310 3aJaHue MOXKET OBITH OIICHEHO MaKCUMAJILHO B 18 0aJIoB.
18 6amuoB. Vcronb3yeMblii CJIOBApHBINA 3allac U TPAMMATHYECKUE CTPYKTYPBI COOTBETCTBYIOT
NOCTaBJIEHHOMU 3a1aye. ['paMMaTrueckue u opdorpadudeckue omubKku — cHumaercs 1 Oam, 3a
KKyt omrOKy. [IoBTOpHBIE OITMOKN HE YUUTHIBAIOTCS MPU CHATHH OAJIOB.

15 OamuoB - cTHIMCTHYECKOE O(OPMIIEHHE COOTBETCTBYET TpeOOBaHUAM 3a/JaHus, HO
HaAOIIOIAFOTCS JIGKCHYECKHE U TPAMMAaTHUECKUE OIMOKY, HE 3aTPyIHSIONINE TIOHUMAaHUS TEKCTa,;
nMerotes opdorpaduyeckre U MyHKTyallMOHHBIE OMMOKHY (He OoJiee 2X B 00IIeM KOJTUYeCTBE)
10 0ansioB - HaOMIOJAIOTCS MUHUMAJBbHBIE CTHJIMCTUYECKOE HApYIICHUS, JIEKCUYECKHUE |
rpaMMaTH4ecKue OUMOKHY, He 3aTPYyIHSIOIINE TIOHUMaHUS TEKCTa; UMEIoTCs opdorpadudeckue u
MTYHKTYallMOHHBIC OMUOKH (He OoJiee 3X B 0OIIEM KOJTMUYECTBE)

5 OannoB - HaONIOMAIOTCS Cepbe3HbIE CTHIIMCTHYECKOE HapyIIEHUs, JIEKCHYeCKHe U
rpaMMaTH4ecKre OIMMOKM BIUSAIOT Ha TIOHUMaHWEe; WMEIOTCS opdorpadpudeckue u
MyHKTyallMOHHbIE OINOKY (He Ooiee 4X B 00IIEM KOJUYECTBE)

0 6a/1710B - He cOOIOICHNE TPEOOBAHUH MO KOJIMYECTBY CJIOB, OTCYTCTBYET JIOTHKA B TOCTPOSHUH
BBICKA3bIBAHMS.



V. SKILLS

Task 9. Makcumym 5 6asioB

Write the following numerical expressions in words. Write the chosen word in a numbered line

in your ANSWER SHEET.
Example: 3x3=9 Three times three equals nine.

1. (82°F-32):2+2=27°C

2. 75.25%

3.3.3=8112

4. 95,000+75,000=170,000
5. 32

OTBeThI

1.Eighty two degrees Fahrenheit minus thirty
two divided by two plus two equals twenty
seven Celsius/Centigrade

4.Ninty five thousand plus seventy five
thousand equals one hundred (and) seventy
thousand

2.Seventy five point two five per cent

5.Three to the power of two (or three squared)

3.Fifteen point four equals fifteen and two
fifths

Kpurepum ouenku

Kaxxaplii mpaBunibHBIM OTBET oleHuBaeTcas B 1 Oamn. B cmyudae opdorpaduueckoit wiu

rpaMMaTH4ecKoi OMMOKN OTBET orieHnBaeTcs B 0 Oansios



